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If e={a,b,c,d,e, f,g,h,i}, A={a,b,c
a) {g,h.i}
o {g}

The simplification of 3
10x

a)

) 2x° y2

The expansion of (3+2m)(4—m)=
a) 2m> +5m+12

) —2m% —5m—12

If f(x)=3x—2 and g(x)z% then
a) 4

c) 2

,d},B={a,c,e,h, f},then (AU B)

G5x2)2xy)?

b) {g.i}
d) {i}

b)

d)

b) 2m% —5m+12

d) —2m% +5m+12

f(g(6))=
b) 18

16
d) —
)3

The solutions of the equation x2-5x+1=0 are

-5++/21
a x=——"—
2
5t4/21
c) x= 2

b) x:ﬂ
2

" L5429
2

3.



. The simplification of

)
> 1o 24

[18 10} [13 32}
c) d)
-2 —4 7 0

. The factorization of x2 +9x-10 =
a) (x=10)(x-1) b) (x+10)(x+1)
¢) (x+10)(x-1) d) (x—10)(x+1)

. The solutions of the equation X2 +2x-35=0 are

a) x=-5x=7 b) x=-7,x=5
¢) x=-5x=-17 d) x=7,x=5

x2 =25 3x% +15x
3x 92
a) x-5 b) x+5

1 x+5

d
© x+5 )

. The gradient(m ) and y-intercepts (¢ ) of the line y=3x-35 are
a) m=3,¢c=-5 b) m=-5,c¢c=3
¢c) m=1/3,c=1/5 d) m=-3,c=-5



11. The binary number 110001 in decimal system is equal

12.

13.

14.

15.
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a) 94
c) 48

The singular matrix is

( . Sj
a) A=
-2 0

j(8x3 _2x 349y dx=

a) 24x2 +6x74

9 2+ x 2 49x+C

x—1
x+3

The simplification of

x2+x+6

x(x+3)

x2 -3x+6
x(x+3)

b) 24
d) 49

b) —+C

d —+C
4x5

{2 3J
b) B=
2 3

[4 Sj
d) D=
1 2

b) 8x* —2x Y 1ox+C

d) x*+2x219x4C

x2+3x+6

b)
x(x+3)

xz—x+6

d)
x(x+3)



16.

17.

18.

19.

20.
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If f(x)=+x-1, then fl(x) =

a) Jx—1 b) %+1
X
0) &1_1 d) Jx+1

The function y= x%> —4x+7 hasa minimum at the point
a) (2,19 b) (3,2)
0 (2,3) d) (2,19

The gradient (slope) of the line that passes through (6,8) and (1,—2) is

1
a) 2 b)E

) — d)2

If f)=2x*—x"*+15 then f'(x)=

a) 4x° +4x3 b) 8x° +4x7°
o) 8x*+4x~? d) 8x3 —4x3
-6-



21.

22,

23.

24.

25.
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It ¢3Y =9 then x=

a) In3 b) 3

c) In9 d) In9-3
3

The stationary point of y=3x2—6x+8 is at

a) x=-1 b) x=0

c) x=1 d) x=6

The value of log, 5=

a) In6 b) In5
In5 In6

5 5

In— dH =

© "6 ) 6

The simplifying log 5y2 +log 4y —log 1Oy2 =
a) logy b) 1og[i
2y
c) log2 d) log2y
1
—=dx=
17
a) 2Jx+C b) 2x+C
-3/2 1
c) x +C d —
2Wx

|



2x+4  x-3

26. The solution of = 18
5 2
23
a) x=— b) x=7
) ) )
c) x=23 d) x= %

27. If loglo(x+4):1 then x=

a) 6 b) 0
0 14 d) 10
5,2 a?
28. 1 y=x>+x°+12, then —2y=
dx
a) 5x%+2x b) 20x>
) 20x° +2 d) 123 +2x

4 11 -1
29.If B= 3 then B "=
1/4 1/11
b) / /
1 1/3

0 4 —11 " 3 -11
-1 3 -1 4

30. Expressing 4% =7 in logarithmic form gives

a) x=log- 4 b)leog4 7

c) 7=log4x d) 4=logx7
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